
 
tyaf; fy;tp mYtyfk; 

tTdpah tlf;F 

 ,uz;lhk; jtizg; guPl;ir - 𝟐𝟎𝟐𝟐             
   juk; 8   fzpjk;  Neuk; - 2 kzpj;jpahyak; 
 

1. jug;gl;l cUtpd; Rw;wsitf; fhz;f. 

 

 

 

2. RUf;Ff. (+5) − (−2) 

 

 

3. fhuzp gw;wpa mwptpd; %yk; ,ilntsp epug;Gf. 

9 + 6𝑥 + 3𝑎 = ___(3 + ___ + 𝑎) 

4. 49 cm2 gug;gsT cila rJunkhd;wpd; xU gf;f ePsj;ijf; fhz;f. 

 

 

5. cUtpy; jug;gl;l juTfSf;Nfw;g 𝑥 d; ngWkhdj;ijf; fhz;f. 

 

 

 

6. RUf;Ff. 
3

5
+

6

10
 

 

 

 

7. vz; Nfhynkhd;wpd; nghJ cWg;G 2𝑛 + 1 vdpd; Kjy; ,U cWg;Gfis vOJf. 

 

 

 

8. &. 50 I &. 250 ,d; rjtPjkhfj; jUf. 

 

 

9. 2 ∶  3  ,w;F rktY tpfpjq;fs; ,uz;L vOJf. 

  

10. 14𝑥𝑦 , 7𝑦 Mfpatw;wpd; nghJf; fhuzpfSl; ngupaijf; fhz;f.  

 
 

8  cm 

7 cm 

 
70° 

𝑥° 50° 
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11. fpwPd;tpr; Neuk; 13: 00 MFk;NghJ (+5
1

2
 ) fhy tyaj;jpy; mike;Js;s 

,yq;ifapd;  Neuj;ijf; fhz;f. 

 

12. ngWkhdk; fhz;f.  (−2 )3 

 

 

 

13. cUtpy; 𝑦 d; ngWkhdj;ijj; fhz;f. 

 

 

 

14. xOq;fhd Iq;Nfhzpapd; Row;rp rkr;rPu; tupirfspd; vz;zpf;ifiaf; fhz;f. 

 

15. jPu;f;Ff.  3𝑥 − 5 = 13 

 

 

16. 5 ___ {2 , 4 , 6 , 8 , 10}  nghUj;jkhd FwpaPl;ilj; njupTnra;J fPwpl;l ,lj;ij 

epug;Gf. (ℇ ,     ∉) 

 

 

17. 3 t   250 kg   jpzpTila ghu Cu;jp xd;wpy; 1t   45 kg   jpzpTila muprp Vw;wg; 

gLfpd;wnjdpd; muprp Vw;wg;gl;l nyhwpapd; nkhj;jj; jpzpit t , kg ,y; jUf. 

 

 

18. 175 cm2 gug;gsT cila nrt;tf tbtj; jfL xd;wpd; mfyk; 2.4 cm vdpd; 

mjd; ePsj;ijf; fhz;f. 

 

 

19. Kf;Nfhzp 𝐴𝐵𝐶  ,d; gug;gsitf; fhz;f. 

 

 

20. gpd;tUtdtw;wpy; ehw;gf;fnyhd;wpd; Nfhzq;fshf mikaf; $ba njhFjpapd; 

fPo; fPwpLf. 

i. 90°, 110°, 100°, 70° ii. 65°, 90°, 105°, 85° 

iii. 65°, 100°, 115°, 80° iv. 110°, 110°, 80°, 70° 

 

2y 
3y y 

12 cm 3 cm 

8 cm 

𝐵 

𝐴 

𝐶 
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gFjp 11 

tpUk;gpa 𝟓 tpdhf;fSf;F kl;Lk; tpil jUf 

1. cUtpy; fhl;lg;gl;Ls;s 𝐴𝐵𝐶𝐷  vd;w nrt;tf 

tbt fhzpapy; kpsfha; gapuplg;gl;Ls;sJ. 𝐵𝐶𝐸 

vDk; Kf;Nfhz tbt fhzpapy; fj;jup 

gapuplg;gl;Ls;sJ. 

i. kpsfha; gapuplg;gl;l fhzpapd; gug;gsitf; 

fhz;f 

ii. fj;jup gapuplg;gl;l fhzpapd; gug;gsitf; fhz;f 

iii. kpsfha; gapuplg;gl;l fhzpapd; gug;gsT fj;jup gapuplg;gl;l fhzpapd; 

gug;gstpd; 4 klq;F vdf; fhl;Lf. 

iv. kuf;fwp gapuplg;gl;l fhzpapd; Rw;wsitf; fhz;f. 

                                                                    

2.  

i. nghJ cWg;G  
n(n+1)

2
 MfTs;s vz;Nfhyj;jpd; 

ii. Kjy; %d;W cWg;GfisAk; vOJf. 

iii. ,e;j vz;Nfhyj;jpd; rpwg;G ngaiu vOJf. 

iv. ,t;vz;Nfhyj;jpd; 12 Mk; cWg;igf; fhz;f. 

v. ngWkhdk; fhz;f. 

a. 0.7 ×  0.5  b. 3.72 ÷ 1.2 c.  (0.06)2 

 

3.  

i. RUf;Ff 

a. 
1

5
 +   

2

3
 b. 

2

3
 −   

2

5
 

c. 
4

7
  ×   

21

2
 d. 

4

5
  ÷   1

1

3
 

ii. 1 yPw;wu; vupnghUspy; 12
1

2
 km  gazk; nra;Ak; xU thfdk; 

3

4
 yPw;wu; 

vupnghUspy; gazk; nra;Ak; J}uj;ijf; fhz;f. 

4.  

i. gpNsw;Nwhtpd; jpz;kq;fSf;F ,U cjhuzk; jUf. 

ii. jug;gl;l tiyiag; gad;gLj;jp cUthf;fj;jf;f 
jpz;kj;ijg; ngaupLf. 

iii. Nkw;Fwpj;j jpz;kj;jpd; cr;rpfs;> tpspk;Gfs;> Kfq;fs; 
vd;gtw;wpd; vz;zpf;ifia vOJf. 

iv. Xapyupd; njhlu;ig vOJf. 

v. Nkw;Fwpj;j jpz;kj;jpw;F xapyupd; njhlu;G cz;ikahFkh? vd;gij tha;g;Gg; 
ghu;f;Ff. 

10 cm 

24 cm 

48 cm 

26 cm 

𝐴 𝐵 

𝐶 𝐸 𝐷 

(2 + 2 + 3 + 2 + 3 = 12) 

(2 × 4 + 4 = 12) 

(2 + 2 + 2 + 2 + 2 + 2 = 12) 

(3 + 3 + 3 + 3 = 12) 
G 
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5.  

i. gpd;tUk; njhilfis mjd; %yfq;fis nfhz;L vOJf. 

a. 𝑃 = {  10 ,Yk; Fiwe;j Kjd;ik vz;fs; } 

b.  𝐴 = { “tpflftp” vDk; nrhy;ypy; cs;s vOj;Jfs; } 

c.  𝐵 = {"𝑢𝑛𝑖𝑣𝑒𝑟𝑠𝑖𝑡𝑦" vDk; nrhy;ypYs;s vOj;Jfs; } 

ii. tpdh (i) ,y; njhilfis gad;gLj;jp 𝑛(𝐴), 𝑛(𝐵) Mfpatw;iw vOJf. 

iii. #dpaj;njhilf;F  cjhuzk; xd;W jUf. 

iv. 𝑛(𝑄) = 4 MfTs;s 𝑄 ,dhy; fhl;lg;gLk; xU njhilia tpgupj;jy; Kiwapy; 
vOJf. 
 
 

6.   

i. rhf;Nyl; xd;wpd;  tpiy I];fpuPk; xd;wpd; tpiyapd; %d;W klq;fpYk; &. 40 

mjpfkhFk;. 4 rhf;Nyl;Lf;fSk; 5 I];fpuPk;fSk; thq;Ftjw;F &. 1010 
nrythFk;. 

a. I];fpuPk; xd;wpd; tpiyia &. 𝑥 vdf;nfhz;L rhf;Nyl; xd;wpd;  

tpiyia 𝑥 rhu;gpy; jUf. 

b. NkYs;s jfty;fSf;Nfw;g 𝑥 ,yhd rkd;ghL xd;iw mikj;J mjid 
jPu;f;Ff. 

c. rhf;Nyl; xd;wpd; tpiyia fhz;f. 
 

ii. fhuzp fhz;f : 2𝑝𝑞 + 6𝑝 + 8𝑝2𝑞 
 

7.   

i. jug;gl;Ls;s cUthdJ 

a. gf;fq;fspd; mbg;gilapy; vt;tifahdJ 

b. Nfhzq;fspd; mbg;gilapy; vt;tifahdJ. 

c. cUtpy; cs;s kpfg;ngupa Nfhzj;jpd; ngaiu 
vOJf. 

 

ii. cUtpy; 𝑎 , 𝑏 , 𝑐  Mfpatw;wpd; ngWkhdq;fisf; 
fhz;f 
 
 
 
 
 

(1 + 1 + 2 + 2 + 3 + 3 = 12) Gs;spfs; 

𝐴 

𝐵 𝐶 

𝑎 25° 
𝑐 

𝑏 

70° 

(2 + 2 + 2 + 2 + 2 + 2 = 12) 

           (2 + 5 + 2 + 3 = 12) 


